

$$1) a_1 = a_1 r^9 = \frac{1}{r} \times r^9 = r^8$$

$$\rightarrow \frac{a_{14}}{a_{12}} = \frac{a_1 r^{14}}{a_1 r^{12}} = r^2 = r^8 = 14$$

$$2) \begin{cases} a_8 = \frac{1}{r} \times r^8 = 8 \\ a_1 = \frac{1}{r} \times r^1 = r^0 \end{cases} \quad \left\{ \begin{array}{l} r^1 \times r^1 = r^2 = b \\ b^2 = ac \rightarrow b = \sqrt{ac} \Rightarrow \sqrt{r^2} = r^1 = r^8 = r^8 \end{array} \right.$$

$$3) a_1 r^{n-1} = 121 \rightarrow \frac{1}{r} \times r^{n-1} = 121 \Rightarrow r^{n-1} = r^1 \quad \boxed{n=9}$$

$$a_0 = 1 \text{ Kar } a_1 = 9r = a_1 r^1 \quad \frac{a_1 r^1}{a_1 r^0} = r^1 = \frac{9r}{1} \Rightarrow r = 9, a = \frac{r}{9}$$

$$a_{10} = \frac{r}{9} \times r^9 r^1 = r \times r^1$$

$$\frac{1}{r} \times \frac{1}{r} \times \frac{1}{r} \times \frac{1}{r} \times \frac{1}{r} = a^5 = r^5 \quad n = a_r$$

$$n = a_r = r \quad \boxed{\begin{array}{l} a_1 \times a_2 \times a_3 \times a_4 \times a_5 = r^5 \\ (a_r)^5 = r^5 \\ a_r = r \end{array}}$$

$$a_1 \times a_0 = \underbrace{a_r \times a_r}_a$$

$$r^a, \epsilon \sqrt{r}, r^b$$

$$r^a \times r^b = (\epsilon \sqrt{r})^r \Rightarrow r^{a+b} = r^a \Rightarrow a+b = a \quad \frac{a+b}{r} = r/a \epsilon$$

$$rr = r^a$$

$$a_r = 1 - n \quad b^r = ac$$

$$a_v = n \quad n^r = (1-n)(1+n)$$

$$a_{11} = n+1 \quad n^r = 1 - n^r$$

$$1 + \frac{\sqrt{r}}{r} = + \quad 1 - \frac{\sqrt{r}}{r} = - \quad \left\{ \begin{array}{l} \frac{\sqrt{r}}{r} \text{ مثبت ہے} \\ \frac{\sqrt{r}}{r} \text{ منہ ہے} \end{array} \right.$$

$$\frac{\sqrt{r}}{r} + 1 = + \quad r n^r = 1 \quad n^r = \frac{1}{r} \quad n = \sqrt{\frac{1}{r}}$$

$$a_1 + a_2 = 11$$

$$a + ar^2 = 11 \rightarrow a(1+r^2) = 11$$

$$a_1 + a_2 = 11 \rightarrow ar + ar^2 = 11 \rightarrow ar = 11(1+r)$$

$$\frac{a(1+r^2)}{ar(1+r)} = \frac{11}{11} \cdot \frac{1}{r}$$

$$\frac{(1+r^2)(1+r^2-r)}{r(1+r)} = \frac{1}{r}$$

$$\sqrt{r=3} \Rightarrow 1, 3, 9$$

$$r=\frac{1}{3} \Rightarrow 9, 3, 1$$

$$11 + 11r^2 - 11r = 11$$

$$11r^2 - 11r + 11 = 0$$

$$r^2 - 11r + 11 = 0$$

$$(r-1)(r-11) = 0$$

$$r = \frac{1}{11}, 11$$

$$r = \frac{1}{11}, 11$$

$$a_1 + a_2 + a_3 = 11$$

$$a_1 \times a_2 \times a_3 = 11 \Rightarrow \frac{11}{a_1}, 11, 11a_1 = 11 \Rightarrow a_1 = 1$$

$$a_1 = 1 = a_2 = a_3 \quad q = \frac{1}{a_1}$$

$$a_1 + 1 \times \frac{1}{a_1} = 11$$

$$a_1 + \frac{1}{a_1} = 11 \quad \frac{a_1^2 + 1}{a_1} = 11 \quad a_1^2 + 1 = 11a_1$$

$$r = 3 \Rightarrow 1, 3, 9$$

$$r = \frac{1}{3} \Rightarrow 9, 3, 1$$

$$a_1^2 - 11a_1 + 1 = 0$$

$$(a_1 - 1)(a_1 - 11) = 0$$

$$a_1 = 1, 11$$

$$r = 3, \frac{1}{11}$$

$$a) \quad q=3 \quad S_1 = \frac{a_1(q^n - 1)}{q - 1} \rightarrow \frac{11(3^n - 1)}{3 - 1} = 11$$

$$\Rightarrow (a_1 \times a_1) \frac{n}{r} = \frac{(a_1 \times a_1) \cdot a}{r \times r \times r^q} = (r^2 \times r^q)^a = r^{10} \times r^{10} = r^{20}$$

$$a_1 = r \times r^q$$

$$a, ar, ar^2, \dots$$

$$\begin{aligned} ar - a &= a(r-1) \\ ar^2 - ar &= ar(r-1) \end{aligned} \quad \downarrow \times r$$

$$r = \frac{ar^2}{ar} = \frac{ar(r-1)}{a(r-1)} = \boxed{r=1} \quad \vdots$$

$$1) a_1 + (a_1 + d) + (a_1 + d) + (a_1 + r d) + \dots + (a_1 + (n-1)d)$$

$$n a_1 + d(1 + 1 + 1 + \dots + n-1) \rightarrow n a_1 + d \frac{n(n-1)}{2} = \frac{n}{2} (2a_1 + (n-1)d)$$

$$\rightarrow S = a_1 + ar + ar^2 + \dots + ar^{n-1}$$

$$S = a + ar + \cancel{ar^2} + \dots + \cancel{ar^{n-1}} + ar^n$$

$$Sq = \cancel{aq} + \cancel{aq^2} + \dots + \cancel{aq^{n-1}} + aq^n$$

$$S - Sq = a - aq^n \Rightarrow S(1-q) = a(1-q^n)$$

$$S = \frac{a(1-q^n)}{1-q}$$